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A 15RW-13
SECTION - A
Analytical Ability
F3RE FBgsd
Questions : 75 Marks : 75
l‘_é:-‘-élu : 75 ardp e : 75
(i) Data Sufficiency (Marks : 20)

&80 DUTgRd

Note : - In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
(c)

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.

Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and 11 together are not sufficient to
answer the question and additional data is required.

Lred 2 1008 20 HEX DS (DS (HHC D .8 (B%), @ (8od L 1T o iHdw o
Goth (Lhdaren dgrodorr anguGEran. FWIO BE0T°) GRAIPNoW, AWYD
PhSares (DD Dargrard) ad)odd Vorgre ePeradc Tor o D
Dg‘aowé’). &3 3g°€5£9§) (Bod rEBEIE ur|erew Gaavriow (1) wod (4)
HELH VO wavd 2arerd JodE Badod.

(a)

(b)

(c)

(d)

5 Varerto ad)odhd [HHiSvo 1 (@D Dorghrond ad 2372
(1) = HB0oN0aé.

(% VrerRo ad)odd [HHSvo 11 S| S ‘é.)o*'gég‘é)o.né D 23aee
(2) e H8oNod.

BHH Treroo ad)od® Dol [ 1T $od Dorghion 8oHS®
2 28) 8 &rae Horgho S*EDE D aarey (3) M (HBoNod.

PHS VargrRo aRodd RNt L 11 $ed Erar Dovguo stE
0559y Serofo eRdERHaEd ad aares (4) M HYoBod
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What is the positive integer n not exceeding 180 ?
180 Q o5 5% 2Yrgro¥o n 28 ?

L. n is divisible by 7.
7 3 n erhodth&Hod.

[I. nisdivisible by 13.
13 & n griondEod.
If ABCD is a square and E is a point on BC, then what is the area (in square units) of AECD ?
ABCD 2% 53w, BC  E 28 Doty wad AECD Frego (589 dirdbd) ood ?
1. BE=6
II. BE:E€=1:2
What is the shape of the play ground ?
s Yo 8580 Dades ?
I.  The perimeter of the play ground is 440 m
e e Por) Wy Fud 440 oD.

[I.  The area of the ground is 15400 sq. m.
& Qo‘@ Swego 15400 5.00.

What is the remainder when n is divided by 8 ?
n Q8 B errAose HT) Fo Jod ?

L. The digit in units place of n is 8.
- n Gh¥), 288 g‘%oé’sb 08 8.

II.  nis the product of eight consecutive positive integers.
n 838 IS DL SO YrgrosTy LYo,

What is the greatest common divisor of numbers a and b?
Dogges a, b & KOY Jarng eraso 8 ?

The least common multiple of a and b is ab.
a,b & EJn JArRg tHedeso ab.
II. a+b=15.

What is the average of a, b, cand 5 ?
a, b, c, 5o Vo"V0 dod ?

I. 5(a+b+c)+4=45.
II. at+tb=c+d.

2 2

What is the value of '\—2+)z,—2 ?
Rt
495 Ded o ?
¥ o

X xz
I "+z) =100
i, x=2z

3 P.T.O.




10.

11.

12.

13.

14.

1SRW-13

Is xy<0?

xy <0 e)ehogr ?
L. “5Ski+3ly|=0
IL 5p{=3lyl

How much time did A take to reach the destination ?
fiavgo JEErI8 A é‘&»é}&l‘bﬁmo&o Dot ?

[... The ratio between the speedsof Aand Bis3:4,
A, B e e e MNA 3 : 4.

II. B takes 36 minutes to reach the same destination.
ol fidngo BEErS B 36 Ddwares Heoéod.

What is the slope of straight line ?
VYT een Do ?

L. The straight line passes through the origin.
& WEFTw treDodd) how SHos.

[I.  The straight line makes an angle 30° with the positive direction of the X-axis.
& V8T X-0¥) ¢S 058° 30° Swo Dod.

-5 20
In the matrix A =[ s } , What is the value of x ?
-5 207 :
(B A = 7y | € X Dewd ok ?
L. A is singular,
A o grEeo.
II. Ais symmetric.
' A @Q‘ébo.

What is the value ofa + b ?
a+b Qedd oet ?

L a#zb
II. a?-bf=a-b
[s the quadrilateral a square ?
& z‘.’)é)d)zgao WY [Dawe ?
L All the sides of the quadrilateral are of equal length.
e ééad;aes‘@ o) gheren VIrD D) £9 asomyow.
II.  The diagonals of the quadrilateral are of equal length.
& z‘.‘)éad)aas&_)) DETrY FERYen VR0,
For positive integers x, y and z, is the product xyz even ?
(A ‘égyg‘osvw X, Y. zod o8 ©0 xyz p4to) :(Joarg ?
I.  x+yisodd.
X+ y B Qopg
II.  x+y+zisdivisible by 7.
78 x+y+z griodakh®od.
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15.

16.

17.

18.

19.

20.

What is the monthly salary of A ?
A v 2o Jod ?

L A gets 15% more than B and B gets 10% less than C.

B %08 A 8 15% 2%, C 08 B § 10% $&y & Zeres HJ-av.
II.  C’s monthly salary is X 2,500.

C 3w 2o T 2,500.

Among the real numbers a and b, is b a rational number ?
R Voages a, b &S b e¥sdab Vogg vyHoa® ?
I a+ b is a rational number.

a+ba¥ o¥ddod X &oa.)g

I[I. a-—bisarational number.

a—b a8 o¥sdad Qowg.
How many persons are there in the library ?
@ L(ﬂoqrooﬁ:oc‘}‘ o Wod wgHes e ?

L. If 3 persons leave the library, then the library has less than 8 persons.
WiHth SgHes (Hogreaho wod 3993 %) & 8 0B $K)H Wod HyHesotrd.

I If 3 persons enter the library, then it has more than 12 persons.

wihthSgHes (Somrechod®s 3@@3 ©%) & 12 500 508 X5 wod SgHesotrd.

In the figure given below, what is the value of ot + B +y+ 8 ?
(808 H&o& o+ P+ 7+ 8 Dewd Joes ?

L oat+tP=y+d
II. 6+¢=90°
Howmuchis(x+y): (x—y)?
(x+y):(x—y)do&?
1§ x:y=3:2
IL "~ x>0,¥9>0
If p(x) is a polynomial, is (x — 2) a factor of p(2x*> — 1) ?
p(x) 2.8 25P0NB a8 p(2x2 — 1) 8 (x—2) s*er 0¥ ?
I.  x—1isa factor of p(x).
p(x) & (x— 1) 2.8 s*Sesro¥o0.

II.  x-—7is a factor of p(x).
p(x) & (x-7) &8 s*desro¥o.

5 P.T.O.
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(ii)

Problem Solving
K)&uéﬂs SSATATS)

15RW-13
(Marks : 55)

(Marks : 25)

34

NOR

BGMUE

FTB

CEHL

[13M

(a) Sequences and Series
W(Edre, [@eweo
Note : In each of the questions numbered 21 to 30 a sequence of numbers and letters that
follow a definite pattern is given. Each question has a blank space. This blank space
is to be filled by the correct answer from one of the four given options to complete
the sequence without breaking the pattern.
WSS : [DF)es 21 od 30 HEH Ko (D8 (8 g0 Rowgen M), eFores M
28 (Sagdio Jabird) ST, (18 RHSHr ab) 2O adyd meo
DY Wod V8 vawd azorwd oD Jovrds oKo SyBoae
B0l '
21. 7:49:3 163
(1 5 (2) 6 @19 (4)
22. 81:64:: : 9
1) - 16 (2) 18 (3) 24 (4)
23. AEF:BlL:: : OUV
(1) NOP (2) MPQ (3) NOQ 4)
24. DRIVE : EIDRV : : BEGUM :
(l)- BGMEU (2) MGBEU (3) UEBGM 4)
25, ExI1:5%9¢: 115 x 21
1) LExIK (2) KxL B3) OxU (4)
26. ANT:CPV:: :DQZ :
(1) BOX (2) BRB (3) ESB (4)
27. BCEH, , DGKP, EINT
(1) CDIG (2) CEIK (3) CFIM 4)
28. KI1M, ,GISLEI17G
(1) 113K (2) 1141 (3, i (4)
29. HOSPITAL : PATIENTS : : SCHOOL :
SsOVB: hen:: ;e
(1) TEACHERS (2) CLASS ROOMS
eargrgaes SGKS Kfeded
(3) STUDENTS (4) BLACK BOARDS
Z)a‘gcjé)w fog VYD
30. If the letters D and E are removed from the English alphabet, then the fourth letter is

R0 EShre 208 D, E o eforad Fund odypd sreld efdo

@ F 2) €

3)
6

G

4)

H
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Note : In questions 31 to 35 pick the odd thing out :

QeSS 1 31 Hod 35 58S e Eb?ﬁloo“ LOVD HBoWPod.

31. (1) 147 2) 125 (3) 103 (4) B84
32. (1) (3,4.,5) (2)0.(5:12::13) (3) (6,8,10) (4) (10,12,15)
33. (1) épril (2) May (3) November (4) September
QRS D Thod VR0
34. (1) 19/15 (2) 13/11 (3) 7/5 (4) 3/2
35. (1) EC4E 2) G8I (3) LISN (4) T21V
Note : Each of the questions from 36 to 45 follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.
B 1 36 Dod 45 DEB Ko (DFen a8 PVYEIO JoParrd) FEDTY O, © éboi)&:‘.‘l)l
50D VOIS Varerare s grded PYroosos.
36. llléa 125, 142‘2’ , 200, 250
2 4 2 3
(1) 1663 : (2) 1787 3) 1813 (4) 1927
3T 0.2, 3.5,8.10, 15, , 24, 26, 35
(1) 19 (2) 18 &) I/ 4) 16
T L S e W ) e LT R b
* 13'5°7°9)7 |12’ 15" 18’ 21]* |25° 29" 33" 37)° |42° 47 57
1 1 1 1
ST @ 51 ®) 5 s
39. §,11,21,43;85, :
(1) 181 (2) 180 3 1M (4) 170
40. 75,105,165, 195, , 285 '
(1) 255 (2) 235 (3) 225 (4) 215
259 13 27
- XL e >33
11 17 15 21
@ 1 @ 3 G) 15 4 5
42. (1,7Z),(8,Y), (27, X), (125, W), :
: (1) (243,U) (2) (243,V) (3) (343,V) (4) (343,U)
43. AEIL CGK, , GKO, IMQ
(1) EJN (2) ENJ (3) EIM (4) EMI
4. If {an}:’=I is such thata, = a,=1anda, =a, +a, + e Ty fork =23, then a, =
{an}:’=I TR ay= 8y =1 k>38 a =a +ta,+..... +a @655(2)035 @‘é)a)é) a; =
(1) 16 2) 32 (3) 64 T o4) 128
45. The n" term in the sequence
1,-2,3,-4,5,-6,7,-8, ...... is :
(B0 1,-2,3,-4,5,-6,7,-8, ...... &* n'® o
1)y «1)y'n (2) -n (3) n 4 D)™"n
7 P.T.O.
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Note :

15SRW-13

Data Analysis (Marks : 10)
&geo% Jzwe

An automobile company produces four types of vehicles (Cars, Motor bikes, Scooters
and Mopeds) at different branches in the country. The production at these units from
2007 to 2012 are given in the table below. Answer the questions 46 to 48 usmg the
table.

0K : 28 uSAS Lo Twd Esru Tiraren (5o, Jrtrd BHes, o,

46.

47.

48.

I 0ek) Bt 208 [Brodod® $arHTos. 2007 wod 2012 $3% o Lo
Sofe0 Ddoren (808 caeféo aw)0. &R wgrdorm 46 ©od 48 DS (DHeH
2T E)é»;

2007 | 2008 2009 2010 2011 2012

Cars :

s 3600 | 6300 8100 10800 | 16200 | 19800
Motor bikes ‘

e 7000 | 12250 | 15750 | 21000 | 31500 | 38500
Scooters

v 8000 | 14000 [ 18000 | 24000 | 36000 | 44000
mzréoga,

Mopeds : ;

- 9000 | 15750 | 20250 | 27000 | 40500 | 49500
Bmagp

The ratio of the number of Cars produced in 2008 to the number of Scooters produced
in 2011 is

2008 Sab~gw s*¢ gooa)gé) 2011 & éo‘ir’B:’o “nvzréod uow?gér Do.zaé?

(1) 37:40 (2) 27:40
(3) 17:40 (4) 7:40

In which year the total number of the four types of vehicles produced was 62100 ?
2 V0580 07T Frenth see ardrare o Rogg 62100 ?

(1) 2007 (2) 2008
(3) 2009 (4) 2010

Ifk : 1 is the ratio of the number of Scooters produced in the year 2011 to the number of
Scooters produced in 2007, then k =

2011 & éoirva‘é Ty &8 Dowg, 2007 & 5¢ Safrgd 08 Dowg k1 IANBS® GoF

ewoycfo k=

(g (2)
9

G 3 (4)

O B

8
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Note: The expenditure under six heads A, B, C, D, E and F in an year are as given in the

following Pie diagram. Answer the questions 49-53 using the diagram.

oD% ;28 DosEV80S® A, B, C, D, E, F o3 vowed atyw (808 sy @' (Pie)

49.

50.

51.

52.

53.

Dood® angugray. i Vo egrdorn 49 Wod 53 DES Ko (Do 2areda.

B
85°

43

If the total expenditure in an year is ¥ 54,00,000, then the expenditure (in rupees) under
the head E in that year is

28 DodhdyBod® Iwdo wEy) T 54.00,000, s o Dodé oS’ wodo E P ad)
(ErrahS®) '

(1) 3,60,000 (2) 4,20,000 (3) 6,30,000 (4) 7,20,000

If the expenditure under the heads A and B together is ¥ 18,00,000 in an year, then the

expenditure under the head D in that year is
A, B & ©07°e G0808R 2.8 Vonsy8od® ey T 18,00,000, ows od VondyBos®

D o3 ©0%0 p8)

(1) ¥4,20,000 (2) ¥4,80,000 (3) ¥5,50,000 (4) T8,50,000

If the difference in the expenditure under the heads A and B in an year is T 2.5 lakhs, then
the total expenditure (in lakhs of rupees) in that year is

28 DohdSos® womew A, B pdyed® Eae T 2.5 0EB8 © LosE 8o Do
P (vEY ErarahS®) i
(1) 90 ' (2) 81 3) 72 4) 63

If the expenditure under the head E in an year is < 3.5 lakhs, then the expenditure (in lakhs
of rupees) under the head D in that year is

2.8 Dohé80S® wo%o E P o) 35588 © LodEyBos® wodo D B pd) (vEy
EraradS’)
Gy 43 (2) 3.5 (3) 4 (4) 4.5
In any year the expenditure under the heads C and F together is equal to
2 Vo5& B0& I womes C, F o i) 0w FOSESE A
(1) half of the expenditure on B and F together.
. B, F woweu ad)d® difo.

" (2) double the expenditure on C.

wo%o C 2 pi)8 S8ow).

. (3) the expenditure on D and E.

ewomeew D, E o pi)),.
(4) the expenditure on A.
©0%0 A 2 A
9 P.T.O.
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Note : Giventhat A= {n:nprime, 1<n<20}
B = {n :n odd, 1€ n <20}
and C = {n: nsquare, 1<n<20}.

Using this answer the questions 54 and 55.

% : A={n:n @JQ“«% }009,35, 1< n <20}

54.

55

()

B={n:n@dVopg, 1<n<20}
C={n:n‘é€r§}()osp§, 1< n <20}
&) GRGPNOD 54 DO 55 (DH) oD 2arandim.

BNnC= '

(1) {1.4,9,16} (2) . £1,3,:5, 729 11 IS ST, 19)
G ¢ @ {1,9}

The number of integers between 1 and 20 which do not liein A UB U C is

AUBUC &° 8%0a° 403 | 0 20 D o Yrgroste Vowg
(1 8 (2) 7 (3) 6 @) 5

Coding and Decoding Problems (Marks : 10)
g*aoh, & §°Goh Lddgw

Note: The letters A, B; C ....... , Z of English alphabet are numbered 1, 2, 3,...... 20

respectively. A code is des*ilgned by shifting ! letter to (14 - )" letter if 1 <r < 13
and s letter to (40 — s)" letter if 14 < s < 26. The reverse process is used for
decoding. Using this answer questions 56-60 given below.

$RE : 2ofid ©EBared’ wgorw A, B, C,......, Z & e 1, 2, 3., 26

56.

57.

58.

59.

60.

HBowH. ErProdod 2.8 'ES 1 <r<13 vwd rd o¥od) (14-r1) v¥so m
&, 14 <5 <26, 98 s S 9E0°R) (40 - 5) D wFBOmD T, B IS WS
Harhon & 86 B30, b egrdonr 56-60 DEY e (%) 0D wrendin.

The code word for HYDERABAD is

“HYDERABAD” & §°& 280

(1) FOJIVMLMI (2) FIOIVMIML (3) FIJOVMLMIJ (4) FIOIMVLMIJ]

The code word for WARANGAL is
“WARANGAL” 8 §°& L0

(1) QMUMZBGM (2) QMVMZGMB(3) QVMZMBGM (4) QVMZMGBM
Which word is coded as IPKFMZGI ?

IPKFMZGI e §°6 eand D& ?

(1) ENTRANCE (2) ELEGANCE (3) EXCHANGE (4) EMPATHIE

Which word is coded as UIBIKTEYZ ?
UIBIKTEYZ rr §°& evand D508 ?

(1) SEDUCTION (2) SELECTION (3) SUGGESTED (4) SHOCKINGS
The code word for TIRUPATI is
TIRUPATI & §°& &

(1) TEMXVSTE (2) TESVXMTE (3) TESVMXTE (4) TEVSXMTE

10
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61.

62.

63.

64.

65.

(d)

66.

67.

68.

69.

T RO i o

If TEACHER is coded as UFBDIFS, then the code word for PARENT is
TEACHER §°& %50 UFBDIFS. wov@ PARENT & §°& o

(1) QSBOFU (2) QBSFOU (3) RBSENU (4) QRAESU
If BOMBAY is coded as OBZONL, then the code for DELHI is

BOMBAY 8 §°G %50 OBZONL, won& DELHI 8 §& Hio

(1) QRYVU (2) QYRUV (3) QRYUV (4) RQYUV
If COMMERCE is coded as DONNESDE, then the code for BIOLOGY is
COMMERCE  DONNESDE > §°G ¥ o@ §°& ¢° BIOLOGY 8 §°G

(1) CJPMPHZ (2) CIOMOHZ (3) CIOOMHZ (4) CIOMOZH
If FAILURE is coded as EZHKTQD, then the code for SUCCESS is

FAILURE & EZHKTQD §°& %¢5%» evona SUCCESS 8 §°& Hishw

(1) RSDDFRR (2) RTDDFRR (3) RTBBDRR (4) RTCBRDR
If TRIANGLE is coded as USIBOHMF, then the code word for SQUARE is
TRIANGLE O USJBOHMF > §°6 33, &yth SQUARE 8 §°& HeSaw

(1) TRUBSF (2) TRVSBF (3)- TRUSBF (4) TRVBSF

Date, Time & Arrangement Problems - (Marks : 10)
88, Xdoabo, edudfe Ldgew

If 26" I anuary of a non-leap year falls on a Sunday, the day on which 15% August of that
year falls is ;
&Y Doddyso 57 28 VoS0t 26 wHHO wdITo wwd, od Vodd o

15 estigp ook DTy 80
(1) Sunday (2) Wednesday (3) Friday (4) Saturday
Qx50 8o D80 bR lefo)

What is the angle between the two hands of a clock when the time is 5.15 a.m. ?
&resabo 5 Ko. 15 Q. Vévabod® a¥ KBatr8o’ Toh twese wisg %o Dods ?

(1) 72%° (2) 67%° (3) 64° (4) 58A°
A clock strikes once at 1 O’clock, twice at 2 O’clock and so on. The total number of

strikes it makes in a day is
2.8 Hédabrdo 1 Hob® 28370, 2 Hobe® Tod W, ........ m Soben §%ehod. 2.8

G’ & Haairdo §°F Hobe Dowg .

(1) 78 ] (2) 1112 3) 132 (4) 156

D is the only son of his father C. A is B’s brother and B is C’s sister. How is D related to A ?

D o3 $38 w8 $0(& C & )T HHrHd. A o3 §g8 B 8 JSHd, B oI ‘bg_é; (03 -

%0, ey A & D 8 Ko Vowogo 2B ?

(1) Sister (2) Brother (3) Niece (4) Brother’s son
%50 S Do e JS D 5 6B

11 P.T.O.




70.

7L

72.

73.

74,

75.

ISRW-13

A meeting is scheduled at 11.00 am for which a person P who is away at 100 kms from
the venue has to attend. If P starts at 9.45 am. in a car which moves with a speed of
60 kmph, then the P is late to the meeting by how many minutes ?

ddabo 11.00 Hobve® oo Bh el LhraSmda, & LarSs 2O Do& 100 3.,

SrSost &) D88 P Sesdh soar®. deSabo 9.45 fobe®H wabesdd Kob 60 85
Sfos’ B’eﬁg S*HSE® 98D e DErPTen o) Dwares SUVGOM Db ?
(1) 5 2) 15 3) 25 (4) 35

Ift, is the time elapsed between 11.10 am to 3.50 pm; and if t, is the time elapsed between
10.15 am to 4.05 pm, then Gt = :

adabo 11.10 Kode Hod @*oﬁmLéo 3.50 Hobe HES KEDS Lo t;; &dabo
10.15 ot wod Faho(o 4.05 Kobe HIH KEIS Lvabo b, oadt :t, =
(1) 524 @) 273 @) 4 s 1)1 32

A, B, C, D and E sit around a table such that A is between B and C and is left to B; D is to
the right of B; and E is between C and D. Then the person to the immediate left of C is
A,B,C,D, E 2.8 ag g Hrh oK. IS B, C 0 WP oty B & Ad (%),

A GIM; B 8 6 (2% D; C, D o% e3¢ E GG, DYl C § Sm (2%

&) g8

(1) D (2) B (3) A 4 E
_ a’ + b? a’

Given thata x b= ap andaAb= i for any real numbers a and b.

[fx*y=2A2 thenx=

2 BT s 0 _a2+b2 _a_2
ngéuowsua,bo;_ma*b— ab ' AAb=T70d aoyd.

xry=2A2 eoand x=
1) y @ 3

(3) 2y “4) 33

For real numbers a and b, if aob = (ab)!’5, then (243) 0 (16807) =
IR Vowges a, b B ach = (ab) !5, ewand )Y (243) 0 (16807) =

(1) 31 (2 29 3) 22 4 21

[faeb=(a+b-172-1,then(l ©2)e (3 o3)=
aeb=(a+tb-1y -1, 08 (1e2)e(3e3)=
(1) 576 (2) 625 (3) 675 @ 676

12
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SECTION -B

Mathematical Ability

K38 Do
Questions : 75
%ye0 : 75
() Arithmetical Ability

Marks : 75
é:'dazrw 2 75
(Marks : 35)

- woEiess é“é.?ggé

76.
(1) a 2 0 (3) xyz 4 1
at3
A 2
715 If( % =( 982_5_ ,thena=
at3
& 2
( ‘:;- =( %) , 9ODS a =
1 2 2) 1 @) —1 @ -2
78. In a mixture of 35 litres the ratio of milk and water is 4 : 1. If one litre of water is added to
the mixture the ratio of milk and water in the new mixture is
35 H&Y EoS® e, Defo 41 1 APBS* esomyow. &s DTS 28 OO %o
LOE Q633 58 JFos® ew, 3o A
a1y 2:7 @. 7:2 (3) 4:3 @) 2:1
79. The salaries of two persons are in the ratio 4 : 7. Both spend 80% of their salaries and save
the rest. The ratio of their savings is
S Hge Idren 41 7 APBS® ey, =70 o’ agdr 80% ENRNSEY
Dl TR B, T8 Y Do ety AHE
@y . 832 2 S B 9:3 (4ﬁ) 4:7
+5 2x2 -2
80. If (\ﬁ)x = (ﬁ) , then a value of (x*> — 1) is
o+ 5 2x2 -2
(\/—i)l = (Qﬁ) , wand (- 1) 8 2.8 deod
(1) 2 (2) 4 (3) 6 4) 8
13 P.T.O.
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83.

84,
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86.
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[N10 +24/6 + 2310 + 24/15| + |\[10— 2v/6 — 210 + 2315 =

(1) 2(3+4[5) @ 23
B) 25 4 210

The least value of k such that 315 x k is a perfect square is
315 x k DOrg Do edd Agor Yo k E3 desd

(1) 35 (2) 31

(3) 21 : 4) 15

Which among the following numbers leaves remainders 1. 2 and 2 respectively when
divided by 2, 3 and 7 ?

&3 (808 Vowgus® BAV 2, 3, 7 oD AR SO 1, 2, 2 e» Fhome SFraw ?

(1) 130 (2) 68
3) 65 4 57

The L.C.M. of two integers is 144 and their G.C.D is 12. If one of the integers is 36, then
the other integer is

Sob yrgro¥ Vowgw D 144, ¢ Krer 12. DBSE 2.8 Yrgro¥ Doyyg 36,
o8 So&d Jrgroso

(1) 18 @) 24
(3) 48 4) 432

The least number that is to be subtracted from 2580 so that it leaves a remainder 4 when
divided by 9, 11 and 13 is

9,11, 13 & B AR 4 Fho HT)0ch 2580 wod B1FahHeS E% Vomg

(1 @) 2
3) 3 4) 4

Three numbers are in the ratio 1 : 2 : 3 and the sum of their squares is 504. The largest of
the numbers is

BN ‘éospgw 1:2:3 n3S° Yod o8 Hgre Do 504 m Hod. e Dowge s
SOUDRE. ; :

(1y 6 2 12
(3) 18 4) 24
14
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87.

88.

89.

90.

91.

The ascendi der of the fracti oy
e ascending order of the fractions : Z» 2 77 77 is
56 9 11

Hamen g»ﬁ’ﬁe@‘?’.ﬁ‘m |¥0.

56 9 1] 59 611
WS &) “eargid

511 9 6 2611 9
@) 714108 @ 7gen

3 5

The persons A, B, C share a property in such a way thalAannget;"‘ andﬁ‘h and C

getting the rest. The person or persons who get the least property

5
i Bges A, B, C o a 6D A, B 0 BT 3 S0 1 Hod DNed C &
BoBtar Do Famdh. 88 S&d e v B8 Tor dgHeo.

(il e o 2) B
(3) AandB (4) AandC
A D0ah B A 20ad C

The descending order of W. '{]6 \]5 is
410,3[6,3 & e56%ren Zho

(1) R[10./3, %6 @ 410.3/6.3
3) 3.36.410 @ /6,410,43

In a face to face election the winner got 65% of votes and won by a margin of 12000
votes. The total votes polled (in lakhs) is

28 warind INES a¥ ©2igd 65% &t LorB0D 12000 &Y wHEGSE ROV
Do Dbeavn & Lowg (©ies?)

1). 4 (2) 04

(3) 0.04 (4) 0.004

In a library 23% of the books are in Arts, 30% in Commerce, 35% in Science and the rest
are in Telugu language. If there are 1440 books in Telugu language, the number of books
in Arts is ,

28 Bd &N Pisud® 23% ©8), 30% 576, 35% PS) G0k DAOID Swid
S’ aamap. Beoid RS Yste Vowg 1440, sod $§)° Yuste Doyg

(1) 2760 (2) 3000
(3) 3600 (4) 4200
15 P.T.O.
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93.

94.
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A person bought a pen and sold it for a loss of 10%. If he had bought it for 20% less and
sold it for ¥ 44 more than earlier sale price he would have made a profit of 40%. The cost
price of the pen is (in %)

8 ‘éus_é; 2.8 év‘:ﬁa £ R 10% ég"bé QEawomrd.8d o éc?;')l 20% éﬁ)&‘é

S8 &' s J|Ead v 837 44 &r. DD JEwoD HoB e8I 40% orelo
SWHB. ¢ Swo £9) 26 (.o

(1) 200 )" 225
(3) 250 4) 280

If an article is sold at a profit of 15% instead of a profit of 9% the person gets ¥ 60 more.
The cost price of the article (in rupees) is

28 DY 9% el o) 15% orardd elnd « D988 60 &r. 2D Byod.
& DYDY E°®) 90D (&r. o)

(1) 1200 (2) 1050

(3) 1000 (4) 800

A and B started a business investing ¥ 10 lakhs and ¥ 15 lakhs respectively. After
6 months C joined them by investing ¥ 20 lakhs. If the profit at the end of the year is
< 5.6 lakhs, then the share of A in the profit (in lakhs of rupees) is '

A, B w0 28 argaroed) D6H0m 10 vfu &0, 15 v &r. Divadme s | FEodomed.
6 Sve S C o8 agrdod® 20 v Dwad Jovik. DoddyoroSod® HNYH
5.6 oo &r. ergfod’ A arer (wfo Er. oSt

Q). . G 2) 24
@) 32 (4) 4.8

In a joint business A, B and C invested capital in the ratio 5 : 6 : 8. At the end of the
business they shared profits in the ratio 4 : 3 : 12. The ratio of the number of months in
which A, B and C kept, their capital is

28 &d agrdod” A, B, C @ 5: 6 : 8 IS aredito Dipad WD,
Tgarorodod” @ orgru® 413 1 12 AN HowEom®. A, B, C e BRI
P Sve ‘bospgo )8

(1)} 2903 2y 5:3:12
3) 8:5:15 (4) 25:18:16
] 16
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96.

97.

98.

99.

100.

Pipe A fills a tank in 8 hours while pipe B empties the full tank in 10 hours. If both the
pipes A and B are opened simultaneously the time taken (in hours) to fill the tank is

A DY 28 YD 8 Hoved® Jodifeid. B ) Q0@ G 10 Kobes® g0 Tos.
A, B oth pes 28370 807) &¢ JoB0odS s7Hedd Ddvabo (fobed)

(1) 33% (2) 36%
(3) 40 4) 42

Two pipes A and B can fill a tank in 10 hours and 15 hours respectively. If they are
opened alternately for one hour each and if A is opened first, the time (in hours) required
to fill the tank is

Sodh PPed A, B e 28 &G JowothH GG 10 Soves, 15 Hoben Vavabo
S0E0kron. i BoGoB) 2.Emm Sugd 288 N8 KobXr B&rr; HSb A PR
807 & JoToh® HF Dvado (Kobed®)

(1) 10 @) 11
@) 12 (4) 13

If a man starts at A and walks at 5 kmph he will reach B late by 7 minutes. But if walks at
6 kmph he will reach B early by 5 minutes. The distance between A and B (in km) is

a8 $g8 A W0d wohHesdd KHod® 5 8. SHo& VAN 7 Jwarw wugorm B
BHherd. 570 eSD Kobd 6 B SHorr BEV 5 Jwared WodmS B e dh.
A, B v ®g &rdo EB.D. o)

1) 4 2 35
3) 6 @ 7

A train of 270 metres long crosses a platform of 390 metres length in 33 seconds. The
speed of the train (in kmph) is
270 . PdYY Ko 28 Tes 390 o &Y o FEFEo D B 33 ok

038 Sew S0 Hobv® (8., o)

(1) 66 (2) 68
3) 72 4) 75

Three persons A, B, C together can complete a work in 8 days where as A alone requires
24 days to complete the same work. The number of days required for B and C together to
complete the same work is

wHeh Hgens A, B, C e Sed 28 DAV 8 e s’ 300 Babiied. s A a..éz’_&g Ya)
DA QY Do 24 Beren Deb&H0B. B, C e Eud o8 DA Pro Svod DY

Sfere Dowg
(1) 18 () 16
(3) 12 4) 10

17 P.T.O.
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” ;
101. A man completes 5 " of the work in 1% days. The number of hours required to complete

the remaining work by him is

28 HDE° S %ot 14 Eerg® ekt g Jadiiesh. Der LD LrTesards sos:
BEI8 STHUVD HgHd Kobed®

Q) -6 (2) 9
3) 7 (4) 8

102. A circle is inscribed in an equilateral triangle. If the area of the circle is 462 cm?, then the
perimeter (in cm) of the triangle is

28 Dwrd (82620¢" 28 H)do woddDosSwddhn. By JTug0 462 $5.00..
s @ghezo DS e (0. . oS?)

ay 2) 84

G) 9 @) 126

103. The area of a rectangular metal sheet is 60 sq.m. The sum of its length and diagonal is
equal to 5 times its breadth. Then the difference (in metres) between length and breadth is

BEBHE 8D 28 Yy Heo STego 60 Bd. o E¥o, PEHe Iwdo
ke 5 5. wyph P EY), Sdenye FLo @. o)

(1) 4 2 5

(3) 6 4 7

104. A cone of height 24 cm and radius of its base 6 cm is made up of clay. If that clay is
reshaped in the form of a sphere, then the diameter of that sphere (in cms) is

2% 24 00D, g g0 6 Vo, e 2 Fo& wok 2P Jabadns. ooy
Ferseom DODVSYDH & feo V0 (0., &)

(1) 6 2) 8

(3 12 4) 14

105. The surface area of a sphere is same as the curved surface area of a right circular cylinder
whose height and diameter are 12 ecm each. Then the radius of the sphere (in cm) is

Jeh, g ‘a*'gé‘u au§‘3,63 12 20.00. o 2.4 esY ‘ém‘éf@ DS STorgs
VR0 2.8 Al ¢hose STug0 08, ey « f¢ a‘?gévgo (0.8, &S

(1 3 2) 4
@ 5 4 6
18
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106.

107.

108.

109.

110.

Let s’ be the surface area of a cube of edge 9 cm. This cube is cut into smaller cubes of
edge 3 cm each. If ‘S’ is the sum of the surface areas of all the smaller cubes, thens: S =

9 20.0b. ©0 Ko 28 o &LoSe STUL0 ‘s’ 3 0., BotHeD 800 DHJd
WIceomT & Pdo E800B080 & W) WTeN0E  &DoSe STerge
&S’ @ 5: S =

(1) 3:1 (2) 1:3

(G) 3:2 - 4 2:3

The number of revolutions made by a wheel of 42 ¢m diameter in travelling a distance of
1320 metres is

1320 D&Y &rdo DatrdowEos® 42 20 5, argoom e S0 I Lojere
}(Jospg

(1) 300 . (2) 400

() 500 (4) 1000

The radius r of a right circular cylinder is the same as that of a sphere. If the volume of the
sphere is twice that of the cylinder, then the height of the cylinder is

28 ro g avgdrdo r 63D af K'%o g8 Lo, Feo A (udiodreno
R0 RLOErEr IS BEos) ward, e W0 A

7
@z @
6 @ 2

The digit in the units place of the number 13400 ig
wowg 13400 & 5,84 R ©08

1) 4 2 3
3 2 4) 1

If a* =k denotes that k is the remainder when 8a is divided by 7, then 100* =
a* =k &k 630 82 % 7 F erNosm Sy Bard) WD), 100* =

(1 1 @ 2
@) 5 @ 6
19 | P.T.O.
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(i)

111.

112.

113.

114.

15RW-13
Algebraic and Geometrical Ability (Marks : 30)
D2ab, ergdad S Egds

For two statements p, q, it is given that p — ((~p)vq) is false, then the truth values of p
and q are respectively .
P q & 83 Toh PHSered Howodod p — ((~p)vg) WG VS Y, p, q ©

¥ Vg Desdes DSV
(1) O 35 (2) FE,F B LT (4 T,F
Let p, g be two statements. Then the statement (~p) v (p A q) is equivalent to

P, q & (MDD §0d. ey KHS00 (~p) v (p A q) IS Hego
(1) qep (2) p=>q @) g=p . 4 p=>~q

If1<a<100and A= {a|ged (a, 100) = 1}, then the number of elements in A is

1 <a<100, A= {a| &g (a, 100) = 1} ®andid, A S reste Lowg

(). 25 (2 16 (3) 40 (4) 20
= ifxe Q
Letf(x)—{l—x ifxeR-Q

where Q is the set of all rational numbers.
Then fis

S (xe Q)
f(x) = {]_x (xe R-0) o808,

356 Q v¥dedad Vogrg VD8, wHyd f w30

(1) one-one only (2) onto only
©gE0 L&D oo D@D
* (3) one-one and onto (4) neither one-one nor onto
©IgERwr, VoA BSgERr 57, Vo s
Suppose A and B are two sets. Then a set, among the following, which is not equal to

118:

116.

A U B, in general, is
A, B & Both VHUDE 0d. Jerdmorn 808 S8S* A UB % Yo 529 Hd

() (A-B)u(B-A)U(ANB) (2) (A°*nB9
3B) (A-B)uB 4 Au(B-A)

If the lines 3x — ky + 4 = 0 and 4x + y + 2 = 0 are perpendicular to each other, then
k- 12k +4 =
VESFTpen 3x—ky+4=0,4x+y+2=0080y80 vowor ol k- 12k +4 =

(1) O 2) 4 3) 8 4) 12

20




15RW-13 A
117.

118.

119.

120.

121.

122.

123.

124,

125.

The length of the line segment intercepted between the axes by the line joining (6, — 4)
and (-3, 8) is
(6,~4), (-3, 8) v E& B Ardsegre D D80T, wodSnodo &P

(1) 4 2 5 () 6 @ 7

sin 120° cos 60° cot 30° cosec23(° =
() o (2) 3 (3) -1 4)
5 5sin®+4cos

9 | —

tan6=ﬁ :4sin9+5cos€)=
73 80 7 3
M %0 T ®) 3o ® 30
4 cos 0 sin®6 — 4 sin 0 cos’ =
() o @2y 1 (3) sin40 (4) -—=sin46

A pole subtends angles 30°, 45°, 60° respectively at points A, B and C all lying on a
horizontal line through the foot of the pole. Then g—g =
28 Voo o o o D 2.4 £32 T DodHew A, B, C o D DS

o o o e v &_
307, 45°, 60° e oSSR B. VP& FE=

1
5 @ 3+1 3) 3 @) 31
x“—4x3+6x2—4x+1=0(x¢0)
:>x+l_=
X
| 5 3
s @) 2 N @ 3

If x -7 is a factor of the polynomial f(x), then a factor of f(2x2 - 1) among the following is
WD () & x-7 2% S*8er 05T (808 TS (232 - 1) & 2.€ seEer oo

(1) x-1 (2 x-2 3) x+1 4 x+2

The remainder obtained when 1! + 2! + 3! + . + (2014)! is divided by 7 is
421431+ ... +(2014)! % 7 S A0S 2y TR0

(1) 3 2) 4 )5 {#), 6
VE+D) (x+2) @+3) x+4)+ 1=
(1) £@?+5x+4) (2) £@%2+5x+5)
(B) t(2+5x+6) (4) +(*+6x+5)
21 P.T.O.
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127.

128.

129.

130.

1313

132.

133.

134.

15SRW-13
The sum of seven consecutive even integers is s. Then, in terms of s, the greatest of these
integers is i
A HEHD VB Proroste o s. s Darg® DBST %030 YroroXo
£ —0 ~ (0] ]

s+ 20 S92 s +42 s + 30
8 ) ) e ) @~
The maximum value of the expression 2 + 8x — x2 is
V00 2 + 8x — X% G K0 Jeod
(1) 16 (2917 (3) 18 4) 19

d 1
§=§=; =(a-c)P+(c-b)?+(b-d?-(d-a)*= |
(Bl (2 0 G) = 4 2
The sum of first fifty odd natural numbers is
I5es afrg 2 Ve Vowge IwEo
(1) 2500 (2) 625 (3) 10000 (4) 1600
9

The coefficient of x* in the expansion of (_\.2 = \—3) is

1)°
3| o) AR’ ¥ GvE) He¥o

A& -0
1) 2c L @) =7, By Fe; 4 -°c,
The coefficient of middle term in the expansion of (1 +x)*" is
(1+x)* odEH IVBead® Disg DeSo Gy Heago

10335 w38 1:85%..39
@) =gy 27 ) 01

21.22 ...4
@) o i (4) 40220

1 2

[-g . }z[ k % }’°<O’b<°

=3a+b+tc=
1 2 2 -2 (3) 4 4 0
If A, B are two matrices such that AB = A, BA =B, then A2+ B2=
Coh (@8 A, B eo AB= A, BA = B eadgéno8 A% +B?=
(1) A+B (2) A-B (3) 2A+B 4) A+2B
lim fanx _
x>0 x°

180 T
(0 = ) Ts0 @) 1 @ =)

22
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135. x=1/x+y 3% =

S 136.

137.

138.

139.

140.

e l-x () 1+x
3) 1-2x (4) 2x-1

In a AABC, D, E, F are the mid points of the sides AB, BC and CA respectively. If
AB =8 cm,BC=15cmand AC = 12 c¢m, then DE + EF + FD =
AABC &°Q ghermes AB, BC, CA © 2gg Dothiges 80 D, E, F eo. AB = 8 0.9,

BC = 15 0.2, AC = 12 0.2, ©avd{)é DE + EF + FD =

(1) 16.5cm (2) 17.5cm
16.5 20.5D. 17.5 200.0.
(3) 25cm (4) 35cm
25 20.D. 35 20.5).

A, B, C are three points on the circumference of a circle with centre O. If, in AABC,
£ZB =60° and £C = 70°, then ZBOC =

So(o O r~ D% 2. H)8 V8P A, B, C e duwreh Dodvyes AABC &° /B = 60°,
£C=170°, & £BOC =

(1) 100° @2y i120° (3) 90° 4 80°

IfP, Q, R, S are the mid points of the sides of a quadrilateral ABCD, then the quadrilateral
PQRS isa
28 iSé’»&)zD&o ABCD &* ghere 2e5g HodYes P, Q, R, S wond S&HHyzo PQRS

IO 2.¥

(1) Square (2) Parallelogram
B[00 aroesd ﬁés&a&o

(3) Rectangle (4) Rhombus
égz‘ﬁeﬁdﬁ’oo ‘&)‘é)zﬁé)d)aao

2 AC
The points A(3, —5) and B(-5, 4) are given. If C is a point such that B 2, then the
coordinates of C are

DodYed A(3,-5), B(-5,4) &2 2iRadi. C oF Doy é—g =2 oa3gér0d C Abdsees

o) @ @) of) @)

A (4, 2), B (6, 5) and C (1, 4) are the vertices of a AABC. The median from A meets the

side BC at D. Then 2AD? =
A(4,2), B(6, 5), C(1, 4) e ¥ (Bgbeo ABC Gy Bgren. A 0D eSgie To ghezo

BC ™ D & $enlyn)B. o) 2AD? =
(1) 13 2) 14 B) 15 (4) 16
23 P.T.O.
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141.

142.

143.

144,

145.

146.
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Statistical Ability ; ' (Marks : 10)
ga‘ongé 5'&656
@
The mean of the distribution given below is
(508 Jeredod DEFDO
X 10-20 | 20-30 | 30-40 | 40-50

Frequency

3‘&:‘@}650 5 10 7 8
(1) 30 )31
(3) 32 (4) 33
For a given data,if the mean is 60 and the mode is 60, then the median is
RO 28 Sero7°D8 HEWO 60, 2 TNFE0 66, wand estiso
(1) 63 (2) o4 ]
(3) 60 4) 62 ‘
The mode of the following data is

(808 Seromrd8 erdmuEo
6,9,13,10,16, 13, 13, 14, 15, 11, 13, 12, 14

(1) 11 ) 12 w
(3 13 4) 14

If o is the standard deviation of X}, X5 ... x, then the standard deviation of 9 + 3%,
9+3x2,...,9+3xn is :
Xpp X oo X, © (SDWeN0 6 ©08, 9 +3x, 9+ 3x,, ..., 9+ 3x, © |EDdBeno

1) 36-3 2) \f902+3

(B) 3¢ 4) 306+9
The variance of first n even natural numbers is
ABE n Ve :(Jbzbospgo )&

a0 n23—1 @) n26—1
3) ﬁgl @ &;1

The mean of first n odd natural numbers is
S0e3¢3 n T Do Dowge eSgino

(1) n-1 (2) n+1
3) n+2 (4) n
24
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147. A number is selected at random from the first 80 natural numbers. The probability that it

148.

149.

150.

is divisible by 4 or 6 is
SE3 80 Didre: Vowge Hod afeds JE)Eorr 28 Sowed I E°00. & Ropg 4 T T
6 B Jdyaom grhodahend VogrrdHed

23 29
M 3o (2) 20
27 33
(3) 30 4) 30

Two fair dice are rolled. The probability that the sum of the numbers on the faces shown is
8 is

Cod JF)HEE ardfud FHoDd. TEPD €Dod Vopgy o § sHEERE

‘{ooap‘égé
5 1
(1) 3¢ ‘ @ 3
7 1
@5z @ 3
The probability that either of the events A and B to happen is 0.6 and the probability that

both of them to happen is 0.2. Then P(A’) + P(B’) =
(Here A’ is the complementary event of A)
WOV A, B o¢f DB 288 1029Q096% VoerRed 0.6, Bodr LoN0HOL

‘boay‘égé 0.2. ®& P(A) +P(B') =
(BF)E A'030 DED A & JrdZo)

(1) 0.4 2) 0.75
(3) 08 4) 12

Suppose f{x) = (x-2) (x - 5) (x= 7). ,
If a number o is chosen from {1, 3, 4, 5, 6, 7. 8, 9, 10} randomly, the probability that it
satisfies the equation f(o) = 0, is

fx) =(x-2) (x~- 5) (x - 7) 9DE%04.
{1,3,4,5,6,7,8,9, 10} o0& 2.& Qowg o W oﬁrégi’ba%m I 08 ©d flo) =0
E)00T Ao &od Qogrrhed

(1) (2)

W W —
O o

)

4)
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151.

152.

153.

154.

155.

 156.
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SECTION -C
Communication Ability
Questions : 50 Marks : 50
PART -1
Choose the correct meaning for the word given :
radical
(1) extreme (2) red
(3) colourful (4) slow
tether
(1) teeth (2) together
(3) restrain (4) free
synergy |
(1) combined size (2) joined effort '
(3) related parts (4) organized finances |
pervade
(1) conquer (2) escape
(3) spread through (4) convince
nascent
(1) smelly (2) fragrant
(3) immune (4) incipient
vacuous
(1) abandon (2) vacate
(3) unavailable (4) expressionless

157.
158.
159.

160.

Fill in the blank choosing the correct word :

The rains the fields, washing away the crops.
(1) stormed (2) inundated
(3) blew (4) covered
Due to the ongoing controversy the political situation in the state is
(1) upbeat (2) cosy
(3) turbulent (4) sublime
England was a great power in the nineteenth century.
(1) merchant (2) army
(3) mercantile (4) navy
The mule would not pull the farmer’s plow.
(1) rigid (2) sturdy
(3) rugged (4) stubborn
\ 26
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

PART -2
Choose the correct answer :

The process of reviewing the performance of employees periodically is called
(1) performance management (2) employee review

(3) performance appraisal (4) employee confidential report
The interview conducted in a situation not quite pleasant or comfortable to the candidate is
called {

(1) unstructured interview (2) depth interview

(3) stress interview (4) distress interview

The medium of outdoor poster in which printed ad message is displayed is called
(I) cutouts (2) " EOF

(3) exhibit (4) bill board

A market which is dominated by a few suppliers is known as

(1) perfect market (2) buyer’s market

(3) oligopoly market (4) monopolist market

PERT is -

(1) Programme Evaluation and Review Technique

(2) Programme Education and Review Teaching

(3) Programme Enlightment and Review Technique

(4) Progress Evaluation and Review Timing

Which of the following is used for modulation and demodulation ?

(1) Modem (2) Protocols

(3) Gateway (4) Multiplexer

Linkage between CPU and users is provided by

(1) storage (2) control unit

(3) peripheral devices (4) software

In a computer system, which device is functionally opposite of a keyboard ?
(1) mouse (2) track ball

(3) printer (4) pendrive

The first mechanical computer designed by Charles Babbage was called

(1) Abacus (2) Processor

(3) Calculator (4) Analytical Engine

Which of the following is an example of non-volatile memory ?

(1) ROM (2) VLSI

(3) LSI (4) RAM D
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PART -3
Choose the correct answer :
171. - A : “There, that’s what you looked like when you were a month old.”
B: “How awful!”
‘ In this conversation ‘B’
(1) s pleased (2) is disappointed [
(3) isunhappy (4) thinks he looked ugly
172. A: “Could I borrow some money from you ?”
B: “What do you need it for ?” '
The conyersation implies that ‘B’
(1) 1isdodging the issue (2) isangry
(3) does not want to give money (4) wants to know why ‘A’ needs money
173. “It was a knockout. Umesh saw stars in his eyes.”
The speaker implies that Umesh.
(1) is exuberant (2) is romantic
(3) is dreaming (4) has fallen unconscious
174. The active form of the sentence ‘e-mails have been written by her’ is '
(1) she has written e-mails (2) she had written e-mails
(3) write e-mails to her (4) she sent e-mails
175. A: “T've got a new job!”
B: *“Great ! that should open doors for you.”
‘B” implies that
(1) “A’ can get more opportunities.  (2) The job will be done outdoors.
(3) The job will fetch a lot of money. (4) ‘A’ will be able to work well.
176. A: “There is a lot of disunity among the people.”
B: Iagree. Unity is the crying need of the hour.”
‘B’ implies that
(1) there is no need for unity among the people.
(2) there is an urgent need for unity among the people.
(3) aplan may be made for achieving unity.
(4) unity may be achieved by crying for it, hour by hour.
177. A: *l want to train myself in yoga practices.”
B: “I want to follow suit.”
‘B’ implies
(1) + that he would put on a suit.
(2) that he would follow anyone wearing a suit.
(3) that he would imitate ‘A’. :
(4) that it does not suit his temperament to follow anyone.
Fill in the blanks with the appropriate phrase/verb/preposition :
178. Manish had a poor salary but he didn’t need much to ;
(1) liveup (2) liveon (3) live after (4) livein .
179. Anthony his wife to tell her that he would reach home late.
(1) called up (2) called on (3) called at (4) called away
180. He has to with the eccentricity of his boss.
(1) puton (2) putup (3) put away (4) putin
28
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181.

182.
183.
184.

185.

186.

187.

188.

189.

190.

Great people achieve what the others only dream

(1) by ) of (3) wih @) out

She saved the child - drowning.

(1) off (2) from (3) for (4) through

She’ll be fearful that.

(1) on \ (2) of (3) with (4) to

Being very tired studying.

(1) impinges (2) impeaches (3) inhibits (4) inculcates

They cultivating the land for twenty years when they moved to the city.

(1) had been (2) are (3) is (4) have been
PART-4

Read the following passage and answer questions 186-190 :

After two decades of growing student enrollments and economic prosperity,
business schools in the USA have started to face harder times. Only Havard’s MBA
school has shown a substantial increase in enrollment in recent years. Both Princeton and
Stanford have seen decreases in their entrollments. Since 1990, the number of people
receiving MBA degrees has dropped about 3 percent to 75,000 and the trend of lower
enrollment rate is expected to continue.

There are two factors causing this decrease in students seeking MBA degree. The
first one is that many graduates of four year colleges are finding that an MBA degree
does not guarantee a plush job on Wall Street or in other financial districts of major
American cities. Many of the entry level management jobs are going to students
graduating with Master of Arts degrees in English and the humanities as well as those
holding MBA degrees. Students have asked the question, “Is an MBA degree really what I
need to be best prepared for getting a good job ?” The second major factor has been the
cutting of American payrolls and the lower number of entry-level jobs being offered.
Business needs are changing, and MBA schools are struggling to meet the new demands.

Which of the following business schools has not shown a decrease in enrollment ?

(1) Princeton (2) Harvard (3) Stanford (4) Yale
What is the duration of an MBA degree ?

(1) 4 years (2) 3 years

(3) 2 years (4) not mentioned in the text

What are the two causes of declining business school enrollments ?
(1) Lack of necessity for an MBA and an economic recession.
(2) Low salary and foreign competition.

(3) Declining population and low education standard.

(4) Fewer MBA schools and higher tuition fees.

Which are the degrees preferred along with MBA for entry-level management jobs ?
(1) Post Graduation in Linguistics

(2) Graduation in humanities

(3) Masters programme in Arts and Literature

(4) Master in English and Humanities

What should be done by business schools to change the situation ?
(1) Charge lower fee

(2) Examine the changing needs of business

(3) Change the curriculum

(4) Improve placement procedure
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191.

192.

193.

194.

195.
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Read the following passage and answer questions 191-195 :

.

More businesses are addressing social issues through philanthropy. Companies
donate a portion of their revenues to charities or a specific social cause. Education is
known to be the favourite object for philanthropy in which 75 percent of companies are
participating. Although the donations will help a good cause, many companies use
philanthropy primarily to improve their reputation or get a tax deduction. Philanthropy is
not limited to the mature markets in the West. In emerging markets philanthropy is even
more popular. Asia’s millionaires committed 12 percent of their wealth for social causes.
While millianaires in North America only contribute 8 percent and those in Europe
5 percent.

Although philanthropy helps society, we should never over estimate its socio-
cultural impact. Recent growth in philanthropy is driven by the changes in the society.
Even in a recession, 75 percent of Americans still donate to a social cause.

But philanthropy does not stimulate transformation in the society. Transformation in
the society drives philanthropy. That is why addressing social issues with philanthropic
activities will have a rather short-term impact.

A more advanced form of addressing social challenges is cause marketing — a
practice where companies support a specific cause through their marketing activities.

Why do companies set aside money in their budget for charities ?
(1) It helps to reduce their tax liabilities.

(2) People want to help others.

(3) Companies do not want to attract attention.

(4) It makes people in the company happy.

What is the change that is coming about now ?
(1) Marketing has become easier.

(2) Companies have started earning more,
(3) There are more advertising companies.
(4) There is a growth in social awareness.

What is the most favourite area for donations from companies ?
(1) Healthcare (2) Education
(3) * Social Ethics (4) Public Relations

What according to the author, will have only a limited impact on the transformation of
society ?

(1) Philanthropy (2) Social change

(3) Recession (4) Marketing strategies

What is the main idea of this passage ?

(1) Philanthropy focuses only on education.

(2) Western countries spend more than others on philanthropy.
(3) Cause Marketing is a better form of marketing.

(4) Companies donate some part of their income to charities.
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196.

197.

198.

199.

200.

Read the following passage and answer questions 196-200 :

To many people growing old seems like the end game in chess : life winding down
in a series of small moves with lesser pieces. As I age, [ have discovered this is not true. I
am not an elderly king stripped of my powers, reduced to a ragtail army of pawns. My life
is not a defensive struggle of restricted options. Growing old is a game of verve and
imagination and excitement. The outcome is not now a matter of strength, although that
still remains, but of faith and courage, hope and wisdom. The aging game is a sport for
which childhood and youth and maturity are no more than a preparation. Its scope comes a
surprise. It expands my life at a time when I expected it to diminish. It demands an
excellence that no longer seemed necessary. It asks me to surpass what I did at the peak of
my powers. Age will not accept second best. In the aging game [ must be all ever [ was
and am yet to be. What has gone before is no more than a learning period. A breaking in.
Age is the combat for which I was trained. Now [ must take this person [ have become and
make each new day special. I must make good on the promise of every dawn I am
privileged to see. Life goes from a minor to a major key. The game builds to a climax.
Every move assumes importance. One feels like a virtuoso, the gifts we have been given,
the powers that empower us, the marvels that make us marvellous, are evident as never
before. The truth is that we have lost nothing. The problem is not that I am less than I was
when young, it is that I am not more. It is past time to become my Own person.

What does growing old mean to many people ?

(1) the end of the challenges (2) mental degeneration
(3) lack of activity (4) boredom

What does aging mean to the author ?

(1) to be negative (2) to be positive

(3) to laze around (4) to be depressed

What should aging lead to ?

(1) perfection (2) death

(3) illness (4) amarvellous existence
Why is the ‘aging game’ referred to as a ‘sport’ ?

(1) Old people play games.

(2) Old age makes one young in spirit.

(3) Problems of old age have to be overcome.
(4) Itisa game in which one loses or wins.

What does childhood and maturity prepare are for ?
(1) -aging

- (2) to face old age with hope and wisdom

(3) torestinold age
(4) to be prepared for illness in old age
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